
AIREWAVE



This product is protected by the United States Federal and/or State Law including Patents, Trademarks, and /or Copyright Laws.
©2024 Minka Lighting, LLC. Manual design and elements of manual design are protected by United States Federal and/or State 
Law included Patents, Trademark, and / or Copyright Laws.





F839L



Circle



8
9
0



RC1000 FAN



E

8.   20W LED Light kit
9.   PC shade
10.  Light kit plate
11.  Remote control with holder 
       and 2 mounting screws
       (1.5Vx2AAA battery included)
12.  Receiver(9 wire nuts included)

A.   Mounting hardware:
       #10x38mm Wood screws(2 pcs.)
       #8-32x25mm Machine screws(2 pcs.)
       Lock washers (2 pcs.)
       4mm Star washers (2 pcs.)
       Washers (2 pcs.)
B.   Blade attachment hardware:
       

C.    Balance kit
D.    Wire nut(3pcs)

1/4x16mm screw(13 pcs)
      Φ1/4   (6.6x13x0.8mm) flat washer(13 pcs)

13.  Blade fixing ring

E.    Blade fixing ring hardware:
5/32x10mm screw(7pcs)

a02
打字機



a02
打字機








blade

blade fixing
 ring

screw

Fig.5 Fig.6

screw

washer
blade 

Step 1:Put the fan on the pulp packaging and assemble the blade
           onto the motor (It will be better to have two people work 
          together to finish the blade assembly) . Align the four holes 
          of the blades with the motor and tighten them with the screw 
          pack B .Note: do not tighten all blade screws first until all  3 
          blades are assembled on the motor. Then,secure all blades 
          tightenly.  (Fig.5)   

Step 2: Flip the blade over to secure the bottom of the blade
with a blade fixing ring with the screw pack E.Have 
person keep all of the blade hole aligning with screw 
holes on the motor.Lay the blade fixing ring onto the 
blade and align the screw holes. Tighten the screws to 
secure the blade fixing with blade.(Fig.6)   

motor

a02
打字機




a02
打字機






Step 1: Remove the clevis pin and B clip from downrod assembly.(Fig. 7)
Step 2: Remove the cross pin and set screw from downrod assembly, 
            and slide hanger ball off downrod.(Fig. 8 )
Step 3: Carefully feed fan wires up through the downrod. Thread 

downrod into coupling of motor, line up holes and replace 
clevis pin and B chip. Tighten set screws. (Fig. 9)

Step 4: Slip coupling cover, canopy cover and canopy onto downrod. (Fig. 10)

Step 5: Reinstall the hanger ball onto rod being sure that cross pin is in the 

correct position, set screws are tighten and wires are not twisted. (Fig.11 )

Note: Two positions for the clevis pin, but do  not  change  the  set  screws 

position.

Step 6: Secure the hanger bracket to the ceiling  outlet  box  using  screws

included with your outlet box and washers included with the fan.(Fig.12)

Step 7: Now lift motor assembly into position and place hanger ball

into hanger bracket. Rotate until the check groove has dropped into the 

registration slot and seats firmly. Rod should  not  rotate  if  this  is  done

correctly(Fig.13)

a02
打字機






canopy

canopy cover
coupling
 cover

blade

Hanger 
ball
Set 
screw

Cross 
pin 

Downrod

Fig.7 Fig.8 Fig.9 Fig.10 Fig.11

Downrod

B clip

Clevis pin

B clip set screw 

Clevis
 pin 

Fan
body

Outlet box

Hanger
 bracket

Washer
Star washer
Spring washer
Screw

Fig.12 Fig.13

downrod

canopy

downrod

Hanger
bracket

downrod

a02
打字機






Fig.14

4

024

(Fig.15)

a02
打字機






Fig.15

Receiver

Screw

Downrod

Step 4: Receiver to House Supply Wires Electrical connections: Connect the WHITE 
             wire from the outlet box to the WHITE wire marked "AC in N" from the receiver. 
              Connect  the BLACK wire from the outlet box to the BLACK wire marked "AC in L" 
            from the receiver. Secure all wire connections with the plastic wire nuts provided. 
            After all  splices  are made, check  to  make  sure  there  are  no  loose  strands.  
            As  an  additional precaution we suggest to secure the plastic wire connectors 
            to the wires with electrical tape.(Fig.16)
WARNING: Changes or modifications not expressly approved by the party responsible 
                   for compliance could viod the user’s authority to operate the equipment.

Fig.16

Outlet box



Fig.17 Fig.18 Fig.19

7

8

9

Canopy

Screw Screw

Canopy

Canopy Cover

cover

8

Screw

Hanger
bracket

a02
打字機




a02
打字機






INSTALLING THE LIGHT KIT /

Step 1: Remove 1 of 3 screws on light kit adapter and loosen the other 2 screws.

           (Fig. 20)

Step 2: Slide the light kit plate up towards the light kit adapter and place the key 

            holes over the screws on the light kit adapter. Turn light kit plate until it 

            locks in place at the narrow section of key holes.(Fig. 21)

Step 3: Align the round hole of the light kit plate with light kit adapter,tighten 

            all 3 screws.(Fig. 22)

Step 4: the wires between 

            the fan and LED assembly with the connectors.(Fig. 23&24)

Remove the 3 screws from light kit plate And connect 

Step 5: Tighten the LED assembly to light kit plate with 3 screws.(Fig. 25)

Step 6: Align the slot of the light shade with the raised dimple on the light kit 

            plate and turn it clockwise until it stops.(Fig. 26)

a02
打字機






Light kit
adapter

Plug
Light
kit plate

Fig.20  Fig.21 Fig.22

Screw

Screw

Light
kit plate

Screw

Light
kit plate

Fig.23 Fig.25 Fig.26Fig.24

Light
kit plate

Light wire 

LED
module

Screw

Light
kit plate

LED
module

Light
kit plate Block

SlotLight
shade



9
2pcs AAA battery



(COUNTERCLOCKWISE DIRECTION) (CLOCKWISE DIRECTION)

Fig.27 Fig.28

27

28







60

7.Lock position: The DC motor has a built-in
   safety against obstruction during operation. The
   motor will get locked operation and disconnect
   power after 30 seconds if interruption occurs.
   Please remove obstacles before re-set.

8.Over 80W protection: When the receiver
   detects motor power consumption which is
   greater than 80W, the receiver’ s power will stop
   and operation will be immediately discontinued.
   Turn the receiver power on after 5 seconds.

a02
打字機






65

5.08
6.75 10.52

3.12'

53120 0.12

120 0.63 39.88 110

 

a02
打字機






3482 5.08 685

6913 39.88 1735,3057

26

205

DOE



MKA23100701




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26



